Physics

Car Four Motion


In this investigation we will explore the motion in four different cars scenarios using the Big 5 and the CBR.

Do the following experiment for two of the four cars (as assigned):


A: Push Down or Pull Back car moving away from the CBR.

B: Constant Motion car moving away from the CBR.

C: Momentum car moving away from the CBR.

D: No Power car moving away from the CBR down an incline.

E: Push Down or Pull Back car moving toward the CBR.

F: Constant Motion car moving toward the CBR.

G: Momentum car moving toward the CBR.

H: No Power car moving toward the CBR up an incline.

I. Create a graph of the motion Distance vs. Time.

II. Trim off the data using the Select command.

III. Get a Linear, Quadratic, or Exponential model to fit the motion.

IV. Report the Big 5 for each car. (Event, Data, Graph, Rule).
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Run the CBL/CBR App.
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Select the Data Logger option and set it up for a time (# of samples, and time interval) that is appropriate for your event. In the sample above the event will take 2.5 seconds.
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Let the car move as described in the first part. Recall that the CBR cannot “see” things closer than 50 cm, and will lose the object after about 6 meters. Exit the program when the event is finished and you have good data. Repeat the event until you get a good graph.
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When you leave the program, look at the data. 

[image: image9.png]L ={@r




  [image: image10.png]Hame=





Remove the lists that are displayed using the Delete key. 
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Bring up the two list that the program created.
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Display the graph and then use the Select command to trim off the bad parts.
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In this case, create a new list pair. Use the letter that goes with your car to help keep the data straight.
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Report these new lists and the new graph. You may adjust the Window.
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If the data look linear, create the model of best fit.
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Report this rule and then repeat the process for the other car.

David A. Young
page 4
09/09/2002

